000 «Cubrpancrpoit MasecT»»

Pacuer HopMaTHBOB 06ecniedenHocTH obsizaTeancTs (HI)
| IeJIeBOro ucmoJb3oBanus cpeacrs (H2)
3a 4 xBapTaa 2021 roxa

H1= A/O=crp.1600 Byxrantepckoro 6ananca (BB) / (ctp.14502 + ctp. 15501)bb =
7488 239/(2403236+1211433)=2,1

H2= Aw/(Jl +YA) = (ctp.1100 + c1p.1230 + c1p.1240 - c1p.12302 — cTp.12303)BB /
((ctp.1400 + ¢1p.1500 - cTp.14502 - cTp. 15501)Bb +
(ctp.1600 - cTp.1400 - cTp.1500)Bb) =
(365 868 + 4 428 788 + 2 468 —323 035 — 3 279 335)/
((4 180 771 +2 652 549 -2 403 236 - 1 211 433) + (7 488 239 - 4 180 771 - 2 652 549))
=0,3
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